When | try to call the defined operator: “X mytestop Y.”
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Esm.eco
module options.eco loaded in 0.00 seconds
ecl compiler.eco loaded in 0.14 seconds

| ic_kernel.eco loaded in 0.02 seconds
i linearize.eco loaded in 0.00 seconds
ic_constraints.eco loaded in 0.01 seconds
ic.eco loaded in 0.00 seconds
r—|lic_generic_interface.eco loaded in 0.00 seconds
ic_search.eco loaded in 0.00 seconds
ic.eco loaded in 0.05 seconds
File test.ecl, line 10: Singleton wvariable X
=|[File test.ecl, line 10: Singleton wvariable ¥
“||File test.ecl, line 16: Singleton wvarizsble X
File test.ecl, line 16€: Singleton wvariable ¥
File test.ecl, line Z4: Singleton wvariable X
File test_ecl, line Singleton wariable ¥
—ltest.ecl compiled 380 bytes in 0.05 seconds
string stream 27: syntax error: postfix/infix operator expected
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QOutput and Error Messages
Iimearize.eco losded im U.uUz Seconas
ic_constraints.eco leoaded in 0.05 seconds
loaded in 0.00 seconds

ic.eco

ic_generic interface.ecoc loaded in 0.00 seconds
ic_search.eco loaded in 0.00 seconds

ic.eco loaded in 0.03 seconds
File test.ecl, line 10: Singleton variable X
File test.ecl, line 10: Singleton variable ¥ *
File test.ecl, line 16: Singleton variable X
—|File test.ecl, line 1&: Singleton wvariable ¥
File test.ecl, line Z4: Singleton variable X
File test.ecl, line Z4: Singleton variable ¥
test_ecl compiled 360 bytes in 0.0% seconds

string stream Z7:
| ¥ mytestop Y.
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syntax error: postfix/infix operator expected
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The following shows that although the ic library was called in the module, ECLiPSe also doesn’t recognize
the X::1..6 unless | modify the module to test
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» [E5m-eco Iozded 1m U.Uz seconas |
module options.ecc loaded in 0.00 seconds
ecl_compiler_eco loaded in 0.12 seconds '
| ic_kernel_eco loaded in 0.00 seconds
| linearize_eco loaded in 0.03 seconds ‘
ic_constraints.ecoc loaded in 0.05 seconds (]
ic.eco loaded in 0.00 seconds
__|ic_generic_interface_eco loaded in 0.00 seconds |
ic_search.eco loaded in 0.03 seconds
ic.eco loaded in 0.03 seconds
File test.ecl, line 10: Singleton wariable X
File test.ecl, line 10: Singleton wvariable ¥
£||File test.ecl, line 1&: Singleton wvarizble X
File test.ecl, line 16&: Singleton wvarisble ¥
File test.ecl, line Z4: Singleton wvariable X
File test.ecl, line Z4: Singleton wvariable ¥
test._ecl compiled 360 bytes in 0.09% seconds
‘—|celling en undefined procedure ¥ :: 1 .. & in module eclipse
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Module test has been selected
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ESm.eco 108ded im U.Uez Seconas

module options._eco loaded in 0.00 seconds
ecl compiler_eco loaded in 0.12 seconds il
ic_kernel._eco loaded in 0.00 seconds
linearize.eco loaded in 0.03 seconds |
ic_constraints.eco loaded in 0.05 seconds |
ic.eco loaded in 0.00 seconds
ic_generic_interface.eco loaded in 0.00 seconds
ic_search.eco loaded in 0.03 seconds
ic.eco loaded in 0.03% seconds

File test.ecl, line 10: Singleton wvariable
File test.ecl, line 10: Singleton wvariable
=||File test.ecl, line 1&: Singleton variable
File test.ecl, line 1&: Singleton wvariable
File test.ecl, line 24: Singleton wvariable
File test.ecl, line 24: Singleton variable
test.ecl compiled 3€&0 bytes in 0.0% seconds
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Compilation of the file also fails. The file which contains

:- use_module(test).
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. [f€_kefnei_eco losged 1m U.UU Seconas
linearize.eco loaded in 0.00 seconds
ic_constraints.eco loaded in 0.02 seconds |
ic.eco loaded in 0.00 seconds
ic_generic_interface.eco loaded in 0.00 seconds
ic search.eco loaded in 0.05 seconds
ic.eco loaded in 0.08 seconds

File test_ecl, lime 10: Singleton variable
—|File test.ecl, line 10: Singleton wvarisble
File test.ecl, line 1&: Singleton variable
File test.ecl, line 16&: Singleton wvarizble
File test_ecl, line 24: Singleton variable
File test.ecl, line Z4: Singleton wvarisble ¥
test.ecl compiled 360 bytes in 0.08 seconds i
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